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Das kleine 1 + 1

2 3 4 5 b 7 8 9 _ﬂT\
1+1] [1+2] [1+3] [1+4| [1+5| [1+6] [1+7] [1+8] | 1+9
2+0| |2+1] |2+2| |2+3| |2+4| | 2+5| |[2+6| |2+F| | 2+8
0+2| [3+0| [3+1| |3+2] [3+3] |3+4| [3+5]| |[3+6| |3+7

0+3| |4+0| |4+1| |4+2] |[4+3] |4+4| [4+5] | 4+6
0+4| |5+0| |5+1| |5+2| |5+3| |5+ 4| | 5+5

0+5| |6+0] |6+ b+2| |6+3] | b+4

0+6 F+0 F+ F+2 F+3

0+7| 8+0| |8+1 8 + 2

0+8| [9+0]| | 9+1

0+9| [10+0

0+ 10

Diese Rechnungen musst du in- und auswendig kénnen!
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5+_=5
b+_ =9
5+_=7
3+_=9
5+_=9
b+_ =8
5+_=9
2+_ =3
2+_=5
5+_=7
3+_=5
b+ _ =5
5+_=9
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bt =7
3+_=6
1+_=7
b+_=b
bt _ =9
2+_=6
2+_ =7
bt _ =6
bt _ =7
3+_=6
2+_=7
bt _=b
bt =4
3+_ =7
bt =7

b+_ =9
1+ _=6
b+ =5
b+ =6
b+_ =8
1+ _ =4
4+ =8
1+ _ =2
b+_ =9
1+ _ =3
bt =9
3+_=6
Fr_ =9
2+_=6
F+_=8

3+_=8
b+_ =7
2+_=8
Fr_ =9
1+ _ =4
F+_ =8
1+ _ =8
§+_=9
3+_ =4
bt =7
2+_=8
b+_ =7
3+_=8
b+_ =9
4+ _ =8

http://vs-material.wegerer.at



F+_ =10 5+_ =10 2+ =10
1+_=10 8+_ =10 2+ _=10
4+_ =10 6+ =10 3+ =10
2+_ =10 F+_ =10 5+_ =10
8+_ =10 72+_=10 1+_=10
10+3=__ 10+5=__ 0+2=_
10+4=__ 10+7=__ 10+9=_
10+6=__ 10+2=__ 10+8=_
1M0+9=__ 10+3=__ 0+1=_
10+1=__ 10+6=__ 10+ 7=

10+8=_ 10+4=_ 10+5=
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8=__ 4+9 = b+b= 9+7=

3+9 = 9+5= 3+8= 5+8=
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5+F=__ F+9=_ br9=
7N\ 7N\ RN
b+8=__ 5+9=__ 9+F=__
7\ 7\ 7\
3+8=__ 8+4=__ b+5=__
7N\ 7N\ RN
5+6=__ 3+9=__ 9+9=__
7N\ 7N\ RN
b+8=__ 8+5=__ 2+9=__
7\ 7\ 7\
Frh=_ 3+8=__ Fro=__
7N\ 7N\ RN
8+8= 7+5= b+6=

7\ 7\ 7N\
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* %

5+8=__ b+5=__ 8+6=__
9+8=__ 9+2=__ 8+8=__
b+9=__ b+8=__ Frh=_
Frt=_ Fr5=_ b+b=__
b+9=_ 4+8=__ 3+8=__
3+8=__ 9+3=__ 9+h=__
5+8=__ b+9=_ 8+4=__
8+3=__ 9+b=__ 9+3=__
5+6=__ b+F=__ 5+6=__
5+F=__ Fr8=__ b+b=__
Frh=_ 8+5=__ 9+9=__
5+8=__ Fr5=_ 8+7=__
8+8=__ 9+2=__ 4+8=__
b+9= 9+8= 7+ b=

7= b+5= b+6=
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* K K

5+8=__ b+5=__ 2+6=__
1+8=__ 9+2=__ 8+8=__
b+9=__ b+3=__ Frh=_
Fr2=_ Fr5=_ b+b=__
b+9=_ 4+8=__ 3+h=__
3+8=__ 2+3=__ 9+h=__
0+8=__ b+9=_ 8+4=__
8+3=__ btb=_ 9+3=__
Fro=__ b+F=__ 5+2=__
1+7F=__ Fr8=__ 9+b=__
Frh=_ 2+5=__ 9+9=__
5+8=__ Fr5=_ 8+1=__
4+8=__ b+2=__ h+5=_
b+9= 9+8= ]+ 4=

7= 4+ 5= b+6=
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